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Fed RIT:

Flo w2 R AP RT DR R e 0 TCS3200 § = ARk B 0 A b
ZAEF R R BREERL SR BRSO RN e d kil FI e S
EHRET T Rk PR il BT R TIES Ko d Rk
LB IE2 0 T LA ) TOS3200 & RIE ¥ ihk g s

datasheet:
PACKAGED
8-LEAD SOIC
(TOP VIEW)
S0 1 [ |_|J 8 S3
'J""._-“"h
S1 2 L1 [ 1 7 &2
OE 3 1 N| 6 OUT
s
GND 4 [ 5 Vpp
TCS3200
Terminal Functions
MR DESCRIPTION
NAME NO. e Z
GND 4 Power supply ground. All voltages are referenced to GND.
OE I Enable for f, (active low).
ouTt o] Output frequency (fy).
S0, 51 1,2 | Output frequency scaling selection inputs.
S2, 83 7,8 | Photodiode type selection inputs.
Vop 5 Supply voltage
. d
Table 1. Selectable Options
I
S0 S1 OUTPUT FREQUENCY SCALING (f;) S§2 83 PHOTODIODE TYPE )]
5 I Power down L = Red k)
E H 2% I H Blue
H L 20% H L Clear (no filter)
H H 100% H H Green




A w g d RS0 ST R B R o R R FI N RIS AR & i
Ylergpd g oo 7 e S0 fr Sl Fom B R0 5240 83 F Rk B T
PR RBAESPER R 2 A AR R B R e o
arduino #%5\:
int s0=22;//% %_arduino ¥ /& & 7 c%r
int sl=24;
int s2=26;
int s3=28;
int OUT=2;
int count=0;//% % € ¢ * 3| «h%¥ i
int selectcolor=0;
int countR=0 , countG=0, countB=0;
void setup() {
// put your setup code here, to run once:
Serial. begin(115200);
pinMode(s0, OUTPUT);
pinMode(sl, OUTPUT);
pinMode(s2, OUTPUT);
pinMode(s3, OUTPUT);
pinMode(3, OUTPUT);
}
void tcs32000)// tcs3200 & 5 #25%
{
selectcolor=0;
digitalWrite(s0, HIGH); //#g @& * £ 3
digitalWrite(sl, HIGH);
digitalWrite(s2, LOW);//iE =@ % B B 4o pl £
digitalWrite(s3, LOW);
attachInterrupt(0, countpause, CHANGE);// %07 O OBL T ¥ P 7 OAR Y *
attachlnterrupt ¥ ™ 7 iGH- = ® 5L
timer0_init();
}
void countpause()
{
countt+;//4# KL R R — F R B|ETER S 50 R (B S 0t BARF 58 R AKR)
}



void timer0_init(void)// 3 % timer 5 ik 37 ¢ RIE PP T 30— 5 &
{

TCCR2A=0x00;

TCCR2B=0X07;

TCNT2=100;
TIMSK2=0x01;
}
ISR(TIMERZ_OVF_vect)//ﬁﬁ51E;ﬁdiﬂfﬁéﬁ3 Hin Rk
{
TCNT2=100;
selectcolortt;

if(selectcolor==1)
{
countR=count;
Serial.print("red=");
Serial. println(countR);
digitalWrite(s2, HIGH);// = ¢ Bl = Bl % ¢
digitalWrite(s3, HIGH);
}
else if(selectcolor==2)
{
countG=count;
Serial. print("green=");
Serial. println(countG);
digitalWrite(s2,LOW);//% ¢ Bl =Rl E 4
digitalWrite(s3, HIGH);
}
else if(selectcolor==3)
{
countB=count;
Serial.print("blue=");
Serial. println(countB);
Serial.println("\n");
digitalWrite(s2, LOW);//%& ¥ | & = ¢
digitalWrite(s3, LOW);



else if(selectcolor==4)

{
selectcolor=0;

}

count=0;
}
void loop() {

tcs32000);
while(1);
}
£ ipt %
REEI FhE
red=350
green=335
blue=1118
BlE o EFaig
red=769
green=253
blue=1222
PIE % FoiE
red=227
green=222
blue=720
d RS E gD RS fedd B RIRF WA BE R RN L Foa
Foamiidi  FRAEFPRET UAREFLHE NP0 T RERRI PRA LR
RlG & pERAR R o L KRR A RIS o
(2 F L &Prr i -
P 53 * (TCRT5000:

55 gﬁ%ﬁ“&vgﬁﬁ@%%@ﬁ&g%mﬁﬂ@mﬁﬁwxgggm@ﬁmgaﬁ,
§ﬂ$%1 JF s kne P RPF(FL IS ENNZR - 3 AT RTET UBER
BNFACR R FRE -

VA R 3L
FAGPRMERINTE0 Y PARAEHIFT LR A F S
10
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N, NE PACKAGE

(TOP VIEW)
1,2EN [] 1 U 16(]

1A [] 2 15]]

1Y [] 3 14]]

HEAT SINK AND { 0+ 1
GROUND 1 [Is 12]]

2Y [l6 11]]

2A [l 7 10(]

Veez I8 o]

Veet
4A

4Y

HEAT SINK AND
GROUND

i 4
3A
3,4EN

FUNCTION TABLE
(each driver)

INPUTST OUTPUT
A EN Y
H H H
E H L
X i z

H = high level, L = low level, X = irrelevant,
Z = high impedance (off)
T In the thermal shutdown mode, the output is

in the high-impedance state, regardless of

the input levels.

B F =k

d & % erdatasheet s+ EN & 52 3 7

PRELAEETCHRRENY £ ERIFT
o S E RS S

AEMR = HEHBLAOY &4 85 KT 2o
ERT AR T I AR T ] BN & gy PN SR BLE R 2 S 2R

Pk - FRgTEE T & N £ 3

1. 4arduino #HF"423":

fig »

P-=-1P

int forward=0;// & %_¥% #i> { #2355 B 3

(R

12

TS GRS

EE

PR P AAHEHEDA



int right=1;
int rright=2;
int left=3;
int lleft=4;
int rightsensor, leftsensor, midsensor;
//arduino pin
int EN12=6;// % & ic & % fi il B # & ¥ arduino sh%rix
int A_1=52;
int A_2=53;
int EN34=T;
int A_3=50;
int A_4=51;
int sensorr=22;
int sensorl=23;
int sensorm=24;
void setup() {
// put your setup code here, to run once:
pinMode(EN12, OUTPUT);
pinMode(A_1, OUTPUT);
pinMode(A_2, OUTPUT);
pinMode(EN34, OUTPUT);
pinMode(A_3, OUTPUT);
pinMode(A_4, OUTPUT);
pinMode(sensorr, INPUT);
pinMode(sensorl, INPUT);
pinMode(sensorm, INPUT);
Serial. begin(9600);
}
int witch act(void)// | %7ré> % 3 4238
{
if (rightsensor==0&leftsensor==0&midsensor==1)
return 0;//w =
else if (rightsensor==1&leftsensor==0&midsensor==1)
return 1;//% % i
else if (rightsensor==1&leftsensor==0&midsensor==0)
return 2;//# +

13



else if(rightsensor==0&leftsensor==1&midsensor==1)
return 3;//% % 5 #
else if(rightsensor==0&leftsensor==1&midsensor==0)
return 4;//% =
}
void forwardact(void)// # {7 v # (FpFdr4] 1293d & 5 3 4250
{

analogWrite(EN12, 200);

analogWrite(EN34, 200);

digitalWrite(A_1, HIGH);

digitalWrite(A_2, LOW);

digitalWrite(A_3, HIGH);

digitalWrite(A_4, LOW);
}
void rightact(void)// 7+ #Eied & (TR 4] 1293d & 7 a3 258
{

analogWrite(EN12, 200);

analogWrite(EN34, 0);

digitalWrite(A_1, HIGH);

digitalWrite(A_2, LOW);

digitalWrite(A_3, HIGH);

digitalWrite(A_4, LOW);

}
void rrightact(void)// 7+ & (FpFfr4] 1293d & ¥ a3 425¢
{ analoglWrite(EN34, 200);

analogWrite(EN12, 200);

digitalWrite(A_1, HIGH);

digitalWrite(A_2, LOW);

digitalWrite(A_3, LOW);

digitalWrite(A_4, HIGH);

}
void leftact(void)// # 7 Z e & (T4 1293d & 7 3 4250
{analogWrite(EN34, 200);
analogWrite(EN12,0);
14



digitalWrite(A_1, HIGH);
digitalWrite(A_2, LOW);
digitalWrite(A_3, HIGH);
digitalWrite(A_4, LOW);

}
void lleftact(void)// #i7 Z#&d ivpFir4] 1293d & 5 e+ 4250
{analogWrite(EN34, 200);

analogWrite(EN12, 200);

digitalWrite(A_1, LOW);

digitalWrite(A_2, HIGH);

digitalWrite(A_3, HIGH);

digitalWrite(A_4, LOW);

void loop() { // 4i & f3%
analogWrite(EN34, 0);
analogWrite(EN12,0);

int act;

while(1)

{
rightsensor=digitalRead(sensorr); //g ip| %= B~
leftsensor=digitalRead(sensorl);
midsensor=digitalRead(sensorm);
act=witch_act();//3 7 & 2| ¥rfg 3¢
Serial. println(act);
switch(act)
{

case 0:

forwardact();
break;
}
case 1:
15



rightact();
break;
case 2:
rrightact();
break;
case 3:
leftact();
break;
case 4:
lleftact();
break;
}

}

}
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o B A
Cd S EHEE T LG~ 0-BY AR R R B~ By FEREE bR o~ Ov P A

iz * MCP4134 & 5 :
Pge B J‘Wﬁ‘:#dﬁ?‘l DR RL8V R 5.5V A& 5 129 4 4 0 B 128 > &g * SPI ernid 3= % o

MCP41X1
Single Potentiometer

csd1  8HVpp
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SDI/SDO 0 3 {{— 60 POW
Vss 4 50 POA

18
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Arduing1
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1 fH
T 4 5

arduino #=+4] MCP4131 #4148 5%
#include <SPI.h>//pt & 5 * SPI eid 2 = 2
byte address = 0x00;
int CS= 10;
int digitalPotWrite(int value)// 4= MCP4134 & % & i crg 425"
{
digitalWrite(CS, LOW);
SPI. transfer(address);
SPI. transfer(value);
digitalWrite(CS, HIGH);
}
void setup()

{
pinMode (CS, OUTPUT);

19



pinMode (2, OUTPUT);
pinMode (3, OUTPUT);

pinMode (4, OUTPUT);
SPI. begin();

}

void loop() {

digitalPotWrite(0);

for(int 1=0;i<=128;i++)//& & % 0T =55 Bl = 5l & &
{

digitalPotWrite(i);

delay(30);

}

for(int i=128;i>=0;i——)//F & & T S~ B 3 &)
{

digitalPotWrite(i);

delay(30);

}

delay(1000);
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1 iTiksF

HRP Y 104 & 7% 4 p

AR R

IR E
arduino {EEMEZL:
#include <SPLh>
byte address=0x00;
int CS1=26;
int CS2=27;
int forward=0;// &€ BT (EE GRS
int right=1;
int rright=2;
int left=3;
int lleft=4;

int rightsensor,leftsensor,midsensor;

//arduino pin

int EN1=25;//E % ic & 7 FECHI 2R FEE] arduino AYRIL
int A_1=24;

int A_2=22;

int EN2=23;

int sensorr=28;

int sensorl=30;

int sensorm=32;

void setup() {

// put your setup code here, to run once:
pinMode(EN1,0UTPUT);
pinMode(A_1,0UTPUT);
pinMode(A_2,0UTPUT);
pinMode(EN2,0UTPUT);
pinMode(CS1,0UTPUT);
pinMode(CS2,0UTPUT);
pinMode(sensorr,INPUT);
pinMode(sensorl,INPUT);
pinMode(sensorm,INPUT);
SPIL.begin();

Serial.begin(9600);

35




}
int motorspeed1(int value)//4131 &4 5 FE B2 g
{
digitalWrite(CS1,LOW);
SPl.transfer(address);
SPI.transfer(value);
digitalWrite(CS1,HIGH);
}
int motorspeed?2(int value)
{
digitalWrite(CS2,LOW);
SPl.transfer(address);
SPI.transfer(value);
digitalWrite(CS2,HIGH);
}
int witch_act(void)/ /HIErEERT T2 =
{

if (rightsensor==0&leftsensor==0&midsensor==1)
return 0;// =] A
else if (rightsensor==1&leftsensor==0&midsensor==1)
return 1;// =G WG
else if (rightsensor==1&leftsensor==0&midsensor==0)
return 2;// =4
else if(rightsensor==0&leftsensor==1&midsensor==1)
return 3;/ /5 Fyi
else if(rightsensor==0&leftsensor==1&midsensor==0)
return 4;/ /5] /2
}
void forwardact(void)// U/ TIa]FUEITERF2H] 1293d & 7 B2
{
digitalWrite(EN1,HIGH);
digitalWrite(EN2,HIGH);
digitalWrite(A_1,LOW);
digitalWrite(A_2,LOW);
motorspeed1(100);
motorspeed2(50);
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}

void rightact(void)// BTGB ERZEH] 1293d & H T2t

{

}

digitalWrite(EN1,HIGH);
digitalWrite(EN2,LOW);
digitalWrite(A_1,LOW);
digitalWrite(A_2,LOW);
motorspeed1(50);
motorspeed2(100);

void rrightact(void)// T AEEEIERMES] 1293d & H B2
{ digitalWrite(EN1,HIGH);

}

digitalWrite(EN2,HIGH);
digitalWrite(A_1,HIGH);
digitalWrite(A_2,LOW);
motorspeed1(100);
motorspeed2(50);

void leftact(void)// ST/l EEEN(ERTIE] 1293d 4 F B9 72
{digitalWrite(EN1,LOW);

}

digitalWrite(EN2,HIGH);
digitalWrite(A_1,LOW);
digitalWrite(A_2,LOW);
motorspeed1(30);
motorspeed2(30);

void lleftact(void)/ /ST /=i {ERG 72/ 1293d & F 1Y FFE=
{digitalWrite(EN1,HIGH);

digitalWrite(EN2,HIGH);
digitalWrite(A_1,LOW);
digitalWrite(A_2,HIGH);
motorspeed1(80);
motorspeed2(80);

voidloop() { // FEER
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digitalWrite(EN1,LOW);
digitalWrite(EN2,LOW);

int act;
while(1)
{
rightsensor=digitalRead(sensorr); / /&R #55E HL
leftsensor=digitalRead(sensorl);
midsensor=digitalRead(sensorm);
act=witch_act();/ /¥ TEN i HIETRE
Serial.println(act);
switch(act)

{

case O:

{

forwardact();

break;

}
case 1:
rightact();
break;
case 2:
rrightact();
break;
case 3:
leftact();
break;
case 4:
lleftact();
break;

}

38




39



31 iF3F IR

BB pY 104 70 11 p

N o178 = I i (B APk ] DLAIET Y Re RV L EBA (L » TCS3200 A =FEEN 45 © 77
RUSE =T R EGH - e E BRI (ki asthy » A ETAL R EiEAE - B
SREEHPHLIE - B AT LIS EIAL EeAyEss © BB AR 45 - ST DASE]
B COEHISR YO EoE - i8S — (E{E - Bt] DU 2] TCS3200 HIEs ERYERY
BHE -

(2)datasheet
PACKAGE D
8-LEAD SOIC
(TOP VIEW)
S01 L1 8 S3
LIJ'/-—--‘\

S1 2 [ 1 7 52
OE 3 1| N 6 OUT
s S
GND 4 [ 5 Vpp
TCS3200

arduino FET{

int s0=22;//5%E arduino ¥R HIMI
int s1=24;

int s2=26;

int s3=28;

int OUT=2;

int count=0;/ /4 5 & @ FiIE] 1y

int selectcolor=0;
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int countR=0 ,countG=0,countB=0;
void setup() {
// put your setup code here, to run once:
Serial.begin(115200);
pinMode(s0, OUTPUT);
pinMode(s1, OUTPUT);
pinMode(s2, OUTPUT);
pinMode(s3, OUTPUT);
pinMode(3, OUTPUT);
}
void tcs3200()// tcs3200 & H F2=

{

selectcolor=0;

digitalWrite(s0, HIGH); //#EZ(d =

digitalWrite(s1, HIGH);
digitalWrite(s2,LOW);/ /{4 (1Y 5B BRI E
digitalWrite(s3,LOW);

1l

attachlnterrupt(0,countpause,CHANGE);// & A =R 9% ot & 0§ #h 17 2 = >

attachInterrupt o] DI RHE (1 5E
timer0_init();
}

void countpause()

{
count++; / /BN SEEARIIT— FH ACHIERER (050 I (5 & L (B = SR FE G )
}
void timer0_init(void)// &€ timer FEEHE R EH CONEAYHF A — B &
{
TCCR2A=0x00;
TCCR2B=0X07;

TCNT2=100;
TIMSK2=0x01;
}
ISR(TIMER2_OVF_vect)/ /i & I E ] IEH 0 5 fE 58 &
{
TCNT2=100;
selectcolor++;

H
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if(selectcolor==1)

{
countR=count;

Serial.print("red=");
Serial.println(countR);
digitalWrite(s2,HIGH); / /4L (58 HI%k
digitalWrite(s3,HIGH);

}

else if(selectcolor==2)

{

countG=count;

Serial.print("green=");
Serial.println(countG);
digitalWrite(s2,LOW);/ /4% HI 52 HIEE (2
digitalWrite(s3,HIGH);

}

else if(selectcolor==3)

{

countB=count;

Serial.print("blue=");
Serial.println(countB);
Serial.println("\n");
digitalWrite(s2,LOW);/ /% E [0 E4T
digitalWrite(s3,LOW);

}

else if(selectcolor==4)

{

selectcolor=0;
}
count=0;
}
void loop() {
tcs3200();
while(1);
}
(4)EHIGE R
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A EEE IR E
red=350
green=335
blue=1118

A EALERFHYE
red=769
green=253
blue=1222

A ELREFHYE
red=227
green=222
blue=720
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T3k 4F

B8 pH

104 # 7% 250p

MPE T AR
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104 # 8% 1p
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